Teacher's Resource Book

Modal verbs: may, might, could, must, can’t

	Modal verbs: may, might, could, must, can’t

	Use

We use may, might and could when we think something is possible in the present or future.

Certain diets may prevent cancer.

We use must when we think something is certain in the present or future.

He must be very ill. He’s been off work all week.

We use can’t when we think something is impossible in the present or future.

You can’t be hungry. You’ve just eaten a 

huge pizza.
We use may have, might have, could have, must have and can’t have + past participle to make deductions about the past.

I’m not sure, but I think Jamie may have 

gone home.
Form

must/can’t/might/may/could + infinitive

They might go to France for their holidays, but they haven’t decided yet.

may have, might have, could have, must have and can’t have + past participle

Jenny isn’t in her room. She must have gone out.


1
Rewrite the sentences using the modal verbs.

Mark is thinking about going snowboarding. (might)


Mark might go snowboarding.

1
It’s possible that Jane will visit Switzerland next year. (could)


………………………………………………

2
I’m thinking about taking Spanish lessons. (may)


………………………………………………

3
I’m sure they’ll be home by now. (must)


………………………………………………

4
James definitely isn’t eighteen yet! (can’t)


………………………………………………

5
It’s possible the weather will be sunny tomorrow. (might)


………………………………………………

2
Read the story. Then rewrite the sentences using the modal verbs.

	Mr Smith was an ordinary man. Every day he 

went to work at nine o’clock and came back at 

half past five. Mr Smith was married to 

Mrs Smith. One day Mrs Smith disappeared. 

  The next day Mr Smith started planting 

flowers in his garden. 

  He continued to go to work as usual. Then 

one day he didn’t go to work. He left the house 

at ten o’clock, and came back at two o’clock 

driving a new car. The next day Mr Smith 

moved out. I never saw him again.


There’s a possibility that he argued with his wife. (might)


He might have argued with his wife.

1
I’m sure that Mrs Smith didn’t leave home. (can’t)


Mrs Smith ……………………………………

2
Perhaps she’s gone to stay with her mother. (might)


She …………………………………………

3
It’s possible that Mr Smith committed a crime. (may) 


Mr Smith ……………………………………

4
I’m certain that he buried something in the garden. (must)


He ……………………………………………

5
Perhaps he won the lottery. (could)


He ……………………………………………

6
I’m sure he bought a new car. (must)


He ……………………………………………

7
Perhaps Mr Smith murdered his wife. (might)


Mr Smith ……………………………………
